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A.	 Tick ( ) the correct option.
1.	 The currently selected cell that appears highlighted with dark black border is 

called ………………………. . 

	 a.	 Active cell	 	 b.	 Selected Cell	

	 c.	 Main Cell	 	 d.	 Name Box	

2.	 By default, how many sheets are there in a Worksheet?

	 a.	 2	 	 b.	 4	

	 c.	 3	 	 d.	 1 	

3.	 Total number of rows in a worksheet are ………………………. . 

	 a.	 1048576 	 	 b.	 148576	

	 c.	 16384	 	 d.	 None of these	

4.	 Cell is the intersection of a ………………………. . 

	 a.	 row 	 	 b.	 column	

	 c.	 both a and b	 	 d.	 None of these	

5.	 Which of the following commands is the Toolbar is used to set the text color in a cell?

	 a.	 Font Color 	 	 b.	 Background Color	

	 c.	 Font	 	 d.	 Color	

B.	 Complete the sentences.

1.		 A cell in Excel worksheet looks like a ………………………. .

2.	 Address of an active cell is displayed in the ………………………. .

MORE ON LIBREOFFICE CALC Chapter-5




